V74— 7 A b=z ) — PEEEIEE N2
SFh 64 4 H 1 H
GEBE/ED L s ) — f TS B !
= B 2 Rt

Jis B Wk = JRUTH v BT ] 44 9657 Hit

TEL:0848-66-1221

FAX:0848-66-2439

ol R

T i 4 Fr | 20244 R — A — U HB# A
AT 1E Hh
wmoAN T OE K M SF 64 40 1H ~ A 74 38 31H
AEA o W H WM | EERSS (SH11H~6A10H, 9A21H~12H10H)
vz ) — hOFTARERT | EHXS 25
B A& o & i &
a7 I—ro KR A7/7° XAXAT/7 o= | MEM ORKRKE | BA L NOREE
Moy | I L DR - cm mm LB E
L 27 12 20 BB
ﬁiit%VFQEE RO AR FO HUB B O B KTk IO A RO
& | M ORI o PP R T B Y Y SRR O BB
H <= Jr ik
BRIV YIS £ D K5y 5 AT BHI L FEk R 7 Y — b RN AR R ke /i
e KD 5y 5 P B | Bk a7 Y — hORE C
L TRFNRT RO FlEE K OME FH 2 FEFM B OB A 2RI FEE | K A2 Mo BAEEO LR 55 %
R X1 G 0.30 kg/nfLA T | KB D HEEE O LR kg /nf
po SRR £ (R FET D M 28 H | WA A > Mo B fED FIR ke/ i
H UE HAEE O IR
e B 4.5 % | WMLk 2T KR cm
7T m M #
YA N AEFELEL|UBE =Y A MRS R g/enl | 3.04 | Naz0eq %
R | Rk | B g/l Naz0eq %
B TVIYIRBOGTE | g HEE | BREE o/l | fuokr /N B
No.| T % PEH LI A, Chaigy | |oRE| T MR el | R
iz Kol sEyE | S O | wpee | M | &g | Q%
s | O | KA RS 8 [ VAL TUN T /N B r X A fbEE 5~0.15| 2.5 2.69 [3.0+2.0
B | @ | L IR AGRMT R 7 A bk 5~0.15| 2.8 2.58 | 3.0LLF
e
wm | O fen = RAHET 477 A [MBZEE 156~6 | 2.63 [0.5+0.5
CRIOR > =T R JERTATT A fbE 20~10 2.63 | 0. .5
e
IEFFIO Y ~ A =R &— K158 i | AEJRUKA] FEHER 15 Naz20eq 1.4
wREe H %
WEHOKIIRE D — (@ 0.000  %korisy| Bk, HIFA, b (BB SR — %
B D | MR | HEH | | wERT s VkOERD £ -
i A < kg/m
A2 N IRFM Ko HIEMO|MEHO | MEMO | HEMO | HEMO | HEHO | IRFAO | BEfF©
335 171 325 470 390 586 2.68
Kt A R 51.0 % KAEEH b \ % RS 45.0 %
%

EIERLE & LRI T A OM, IRMFIOBEMNEOAEFH L E7,
¥ (6H11H~9H20H) +0.2%, 4% (12H11H~3H10H) —0.2%

BM OB ERLAE

AN
==

BRFNOFHEIZSOWTIE, WY 2 LICETET 258055,




VTr 44—V A bavy ) — bEGEHREE

i & O & §F & M
=S ESR N N A7V XAXATYT Tu— | HEMORKTE | AL NofEE
oy | RIS K DR - cm mm WL BEE
o E 27 12 20 BB
ZEENR S v Y THOERBIZLD 10 %
2| 428 AT Ko _ 0.85 _ _ 1 _ al = 1.214
[BELTES Y a al ~oxV 1.214 a2 ~3.0xv 1.209 o — 1200
100 100/ 3.0 a3 = 1.250
Vs — L0 ~ a0 a = 1.250
| _ _20xV
100
oA e m m=a X Si. = 1.250 X 27 = 33.8 33.8 N/mit
KA R W/C |m=a + b X C/W=-11.2 + 23.3 X C/W 51.0 %
_ b 23.3 B
W/ = 33.8 + 1.2 - 100 =510
BANT K B W Y THOEBEITLD 171 ke/nt
_ e B _ 17 _ ,
BT AL MR C C = W/C X 100 10 X 100 335 335 ke/mi
Cv Cv = C =~ B = 335 = 3.04 = 110 110 L/nd
ZEETH A A = FWHAR X B8 (%) = 1000 X 4.5(%) = 45 45 L/m
B DMkt 75 Va Va=XiABxH— (W+Cv+A)=1000— (171+110+45) =674 674 L/nt
B S/a | ¥THFDOFERKITLY 45.0 %
BN HE M & Sv Sv=Va X S/a(%) = 674 X 45.0(%) = 303 303 L/m
Svl | @®Svl = Sv X 40(%) = 121 121 L/m
Sv2 | @Sv2 = Sv X 60(%) = 182 182 L/nt
S1 DS1 = Svl X EE2.69) = 325 325 ke/nt
S2 @S2 = Sv2 X BE(@2.58) = 470 470 keg/m
BB &= Gv Gv = Va — Sv = 674 — 303 = 371 371 L/nf
G G = Gv X #EJ¥£(2.63) = 976 976 kg/ni
G1 DGl = G X 40(%) = 390 390 ke/nd
G2 ®G2 = G X 60(%) = 586 586 ke/nt
HARFA & AE | AE=CXNE (%) =335X0.8(%) =2.68 2.68 keg/m
Aic & * ke/ni
YA | BRI 7K AEMO | HEMO | MEHO | HEMO | HEHO | HEHMO [EFMAO EFFIO
335 171 325 470 390 586 2.68
KE AL N 51.0 % KAEE R \ % HE B R 45.0 %

(GRS




